e BEERER

RZTERF+-A=1+—H

BE

ERBE E
M- BB L& 4,449,956 3,999,533
+ {5 A 1,061,427 1,021,828
mIEE 18,911 18,947
NI B 347,278 285,943
ﬁi HENBEE 296,307 283,633
RIEFMGETHEE 17,280 14,815
RHERITIFR 23,426 48,421

6,214,585 5,673,120

BN & B
"E 49,241 50,864
JE U5 B R % Lt B s 3R 318,752 316,289
Hiiz AR BEREBEEERIENMEEE = 2,322
PR HI3E & 78,679 68,292
T @A AR B R ESRITE R 23,426 —
ReERBEEED 3,516,893 832,916

3,986,991 1,270,683

10,201,576 6,943,803

LEHTRBAE RE)RHERAT | —TEAFER 0




e BEERER (E)

RZEZRF+-_A=+—H

R+t=—A=+—8H
(=2 —EEXRE —TTRE
ARETRT ARETIT

BR R A =

AR RRFEEGEE R REHE
NN 4,565,000 724,254
&
— Bk R B AR 2 118,690 —
—H b 1,457,613 2,612,063

6,141,303 3,336,317
991,902 901,211

BERERRE 7,133,205 4,237,528

afE

ERBAE
& 1,272,763 1,071,727
RILEFRGEHEE 212,304 200,685

1,485,067 1,272,412

mE) B E
JE <8 B R % EL fth JE 1<) 5K 792,885 782,098
FE AT AR B — 146,140
J& 1~ PR 15 75t 94,196 100,532
&= 696,223 405,093

1,583,304 1,433,863

B EAE 3,068,371 2,706,275

BEMKEERA 10,201,576 6,943,803

REBEE,/ (BfE)FE 2,403,687 (ERED)

EEEABERREDAERE 8,618,272 5,509,940

F4Z 1B AN ERREMBHRROEERD -

EFRFHITEE = HITEEREEHTE: BHE

o BT EEEE (EE)RGBERAT






